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Subtraction (Horizontal) Name:
Solve each problem. Answers
1
1) 91 - 39 =
2.
2) 927 - 84 = 3
4,
3 3,278 - 6 =
5.
4 3,129 - 246 = o
7.
5 691 - 306 = g
9.
6) 102 - 2 =
10.
) 9,064 - 8,259 = 11.
12.
8 9,150 - 9 =
9 2,560 - 843 =
10) 8,848 - 3,670 =
1) 77 - 57 =
12) 23 - 8 =
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
1, 52
1) 91 - 39 = 52
2 843
2) 927 - 84 = 843 3, 3,272
4 2,883
3) 3,278 - 6 = 3,272
5 385
4) 3,129 - 246 = 2,883 6 100
7 805
5 691 - 306 = 385 g 9141
9 1,717
6) 102 - 2 = 100
10, 5,178
7) 9,064 - 8,259 = 805 11. 20
12 15
8) 9,150 - 9 = 9,141
9 2,560 - 843 = 1,717
10) 8,848 - 3,670 = 5,178
11) 77 - 57 = 20
12) 23 - 8 = 15
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Subtraction (Horizontal) Name:
Solve each problem. Answers
843 52 3,272 805 1,717
9,141 385 100 5,178 2,883 1.
2.
1) 91 - 39 =
3.
4.
2) 927 - 84 =
5.
3 3,278 - 6 = 6.
7.
4) 3,129 - 246 = 8.
9.
% 691 - 306 = 10.
6) 102 - 2 =
7) 9,064 - 8,259 =
8 9,150 - 9 =
9 2,560 - 843 =
10) 8,848 - 3,670 =
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